Task 1 <At E& 6}

by &2 22l4 posted Nov 11,2018

IELTS Writing : Descrbing numbers
(OlO|¥ = 20| Z=t#1 : =Xt 2 ES])

X : jelts-simon.com

OfOr= 2t0|E HAF 10M 7HE S 222

|'0|'

H

ot

2 S8tk ofo|Y

r|r

Xl(numbers)E H&ts

1

= AN SAIXS0] of REOIM B2 25 Gt

Ol € =0 ofeiel & 2At 2012 =0f 27kX| Q] Bt E S4lThs ALt AFE 2| H| &S LtEFL L RACE

20| A= +X5S 2ot ot 2 HOEAL A0 2= 2 &= Of2iet 2Lt

In 2012, text message was 95%, while email was only 52%.
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In 2012, 95% of people communicated by text message, while only 52% of people sent or received

emails.
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